OCR Technicals
Unit 1 Topic 3 Socrative test: Written answers

30. Bank MIS [4marks]
[bookmark: _GoBack]MIS stands for management information systems [1mark]
Data [1 mark for any suitable answer]
The data used by the bank could be customer accounts, customer spending, customer credit card transactions, savings accounts, loans or mortgage accounts. Or Streadsheets/reports on data anylsis. Or functional systems for marketing/sales 
An Advantage [1mark]
Can provided the status of the organisation OR show areas to improve or areas of risk.
A disadvantage [1mark]:
Cost of installing the system, poor or inflexible design, data that is out of date because of poor checking facility, end users not fully trained, it does not make judgements, only present data. 
37. Compare ADSL with leased line [6marks]
[image: ]
39. Adv/Disadvantage of virtualisation [2marks]
+ Less cost in server hardware [1mark]
+More efficient use of server CPU
- If one server fails, all fail [1mark]
- Expensive in virtualisation software
- Training needed to use software

5. helpdesk disadvantage  [2marks]
- Cost of hiring staff, install computers, software [1 mark]
- Cost of hiring expensive other companies to provide the service[1]
- Loss of service through breakdown of communication[1 mark]
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2 Advantages Points marking approach.
« Source code available (1) so can be customised i
to the bank's needs (1). gdvamagke; ) —— ; ) , Microsoft Word (*doc) =
i ne mark for each correct identification up to a maximum of
Unnecessary features can be removed (1) which two identifications plus up to a further one mark for each of (e =)
two valid explanations.
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makes the product run faster/more secure (1).
* Any other valid suggestion.

~ Disadvantage: Convert
Disadvantage One mark for correct identification plus an additional one mark
«  Support may be difficult to obtain (1) as for valid explanation.

development is often distributed (1). » Create PDF

May be prone to errors/bugs (1) as may not have » Edit PDF

been tested fully (1). » Combine PDF
* Any other valid suggestion.

Indicative content: Levels of response marking approach.
Leased line is a dedicated connection while

i i " 4-6 | Has made two complete comparisons.
:;‘sdl;,:; :ot. Both ADSL and leased line are high marks | At the bottom of the band, may be one

complete comparison and a list of
Leased line is uncontended while ADSL is individual points.

contended. Has made one complete comparison or
ADSL will need a VPN for security while leased a list of individual points.

line will not. Nothing worthy of credit.

Any other valid suggestion.
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